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a—F g Hik o PR (kg) &40 (1) il 1 fi Sl PE (HAL)
Y3002 =4 (A1) - 9/ 4,568 648 648 216 B 9kg
31200 |LIHE 2 950 86 86 86| &M 113
Y3014 KARBE IE 583 65 65 65| BM 93
31900 MAX - 4 6,167  1,620] 1,620 1,512/BM 4kg
31900 AX 1 1,512 151 151 151 BH 1048
34330 R 48 6,901 43 27 5| &M 241K
34100 #IC 3 474 36 36 271 BN 154
34500 B 10 1, 363 186 486 389| BP9 10kg
Y3033 ZZAHAL 12 2,376 119 119 119 BN 208y s
Y3033 AL 100 8, 964 140 76 65| BN 100kg
Y3044 (B 15 1,134 76 76 76| 5N 15kg
34930 LA ¥ 25 3,953 65 54 27 BN 844
34980 ~b & 5| 410 27 27 11BN 184
35940 ATEAEAE 13l 56,743 540 197 356 &N 131kg
34800 < b BB o2l 648 54 54 54| BN 1248
34800 < B 14 6,301 54 43 39BN 143% > b
36340 B LA HAE 20/ 6, 836 432 432 216 5P 20kg
34600 LLEHSBBHL 0 22 54 54 54| 5 Okg
37300 T 1 281 281 281 281 B 148
37510 # U % 1 432 54 54 54| BN 84%
48000 FUNA S 19| 5,886 1,458 1,458 756 | BN 51
Y4003 —=a— ATl 11 5, 389 184 132 132| B 351
49100 ~FF 5 1,080 1,080 1,080 1,080 &M 1r—2
49470 Ry g T — B o 17 5,945 19 27 27| &M 1691
21011 A7 L—% ] 15, 540 55 33 17 B 1, 2304
71314 VLT YR 1 : 1, 056 44 44 44| BN 244k
53456 - a7RiE 5 1,906 378 378 324| B 5kg
39870 Fofth 3| 10,584| 3,888 3,888 2, 808| &1 3kg
Y3028 % 15 3,726/ 248 248 248 | 5N 15kg
30100 72V Z A 3L 168 14,342 162 130 22 JkitgE 1124
30300 A% L 120 22,356| 2,376 2,376] 1,458|dciEE 124 — 2
31200 (LI 4 2,592 2,592] 2,592 2 592/l 17— A
31200 (L3 4 1,296 65 65 65| FE Y2 B 20%%
33810 FHAEE 8 5,184 2,592 2,592 2,592 | FEIR B 20—
33810 FHHEX 4 2, 160 108 108 108 | FEV2 204%
Y5005 47k A o 5 1,566 1,566 1,566 1,566 K%y 14— A
31700 & ¥~ 90 19,872]  2,376] 2,160 2,160 BEES 94—
31800 X ) ALAEL 8 9, 040 270 270 130 | &7 ey 4148
31950 H#RE 2 L 3 648 648 648 648 | FEVE 5 17—
31900 fX M 5 5,940 594 594 594 | IR B 103 (500g)
31930 —h¥ - - 3| 8,100, 8,100 8,100 8, 100 | & 17— A
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s i | iz i fiH
a— R i Hk PR (kg) eH () il i ol PE (HAL)
32800 (5 2 19 97 97 97 | E I 205k
34300 79 25 6,912 1,728 1,296 1, 296 | & I 57— A
34400 k=~ k L 24 6, 480 1,080 1, 080 1, 080 HEA 6% — A
34100 I L 50 15,660 2,268 1, 188 1, 188 HEA 1047 — A
34200 I 20 8,208 4,104 4,104 4, 104 | bvigiE 2 — R
034571 ST U (FR) 2 1, 404 140 140 140 | 5 [F] 101
34572 X7 U A () 3 4,104 205 205 20547 & |20f#
34572 STV A (3) 2 1,134 76 76 76 | W[ 15f8
36200 H#HE 100 22,572  2,700| 2,376  2,052| %% 104 — %
36600 7-FhE 2L 100 8,100 1,620 1,620 1,620 f&% 57— A
37200 Lk 9 A8 - 3] 1,620 54 54 54| Rt 30,5y 7
37200 L x 928 2L 4 1,620 1,620 1,620 1,620 f[E 17— 2
33410 H=—L ¥ = M 1 1,555 86 86 86 = BF 181
33420 Y —2V—TLH R L 3 3, 564 3, 564 3, 564 3,564 | & B 17—
33600 /&Y 0 324 216 216 108 |HEA 245
133300 Tyl — 3 2,700 270 270 270/ AL iiE 1018
38100 ALz 2L 3,024 86 86 65 | Iy 4078y 7
34910 &I 28 972 270 108 108 | B2 & 611
Y3065 AA — h=m— M 24 4, 320 54 54 54| B 80A
31310 A3 4 2,592 130 130 130 BV B 2014%
31500 /M3 16 7,344 108 108 43 |t ] 801%
31500 /MASE 4,968 2,484]  2,484) 2,484 |FER 5 24— A
37560 F3I31F 0 1, 404 540 432 432\ KR4y 38y
48000 FU 2 L 20 15,552 3,888]  3,888) 3,888 It 4fH
Y4007 A—ATF XA 5 3,132 3,132 3,132 3,132|=a2—V—|17r—2A
N . ] Zad
a8t 1,356, 419,035
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